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O 10° @ 20° ® 30° @ 40° ®)50°

180° — (40° + 90°) = 50°
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60° ~p2—60°

x + 60° = 5x — 60°
4x = 120°
cox = 30°
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@® 900°, 360° @1800", 360° ® 900°, 540°

@ 1800°, 540° ® 3600°, 540°

(HZte] ) = 180° x (12 - 2) = 1800°
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@® AB=CD
VS N\
@ 5.0ptAB = 5.0ptCD
N N
(@)5.0ptAD = 5.0ptBC

@ (FA% AOB ] Hol)=(FAE COD °]
Hol)

® AAOB = ACOD

® <AOD ¢} /BOC 9] Zto] 7|8 R2ng ¢
3 AAOB ¢} ACOD = SAS g5olt}.
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@mﬂcm, 25mcm? @ 10mcm, 24mcm?

@ 1lrem, 25mcm? @ 11am, 24mcm?

® 127cm, 25mcm?

) = 2nr = 22 x 5 = 107(cm)
o)) = ar? = 7 x 52 = 257m(cm?)
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@® ¢ABD @ (DBC ® (ACB
@ /BDC ®) mac

LA+ /B = 2(zx + (DBC) {1¥] /B = 2/DBC °|E& 2/x =
LA = /BAC °|t}.




12. o8 a"3} Zro] Al ¥ CA, CB, BD 9] Zdoj7} 21 /EBD = 120°
A, x o] S Fotoiet

/A = x 2}2 5}, /BCD = /BDC = 2x
120° = /A + /BDC = x + 2x
. /x = 40°
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® 180 @300 @5 @720 O 900°
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(29] do]) = (29 E2l) x 360°
2ﬂ><6><129— =4

360 °
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Z912 ¢ uha) B94E , o] fo] AUk HEe] ol
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‘O []
~-5cm-~

@® 24 + 4r(cm?) @ 24 + 671(cm?) @36 + 4r(cm?)

@ 36 + 67(cm?) ® 48 + 67(cm?)

_ ! lem
a 0
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\
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~-5cm-~

S =2(2%x5+2x4) +4r = 36 + 4n(cm?)
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@ mem? @ 27mcm?

@ 6cm? @ 3rcm?

® 3cm?

1 1
S:Erl:§x3x2ﬂ:3n(cm2)
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D 115° @ 120° @125° @ 130° ® 135°

80° + 20° + /DBC + 25° + /DCB = 180° o] B2
(DBC + /DCB = 55°
SoLx = 180° — 55° = 125°
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130°

[ 2
[> ®eh: 80°

B

ABIC ©| A £130° + (ZIBC + /ICB) = 180°
. /IBC + /ICB = 50°

AABC 9|4 24ABC + 2/CB + /x = 180°

o /x = 80°
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e 1" gol

b = 30° + 35° = 65°
£x = 180° — (La + £b) = 45° o]tk
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O 70° @ 72° @73° @ 74° ® 75°

AECE & 9431 27219 ABCEF 2] Wzhe] g2 180°x (5
2) = 540°

540° = 105° + 120° + 36° + /DCE + /DEC + 62° + 110°
/DCE + /DEC = 107°

ADCE of| A

/x = 180° — 107° = 73° o]t}
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Lx+ Ly & 2717

@® 57° ® 59° ® 61°° @®)63° ® 65°

i 180°><(5—2)
= 5
180° % (8 - 2)

=108° °o]x1

uzkg o & |2 27 — 135° o]},

wt2kA] 108° + 135° + Za = 360° O] 22 szq = 117°
AZr@ o] Al Hizhe] 2719] 92 180° o] 2=
Lx+ Ly +117° = 180°

/x+ Ly = 63° O]t}
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/OBC = 20° + 20° = 40°
/OCB = £OBC = 40°

£COD = 40° + 20° = 60°
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. 5.0ptCD = 2X 3 x5
- 5.0ptCD = 2 X3 X5 X oo
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